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1 FTC11 TEIER {a]«{£ 445221199609 ***kx% 86.35 84.80 85.42 =
2 FTC11 TEIER a7+ 4407821997 1( %k 77.70 88.40 84.12 =
3 FTC11 TEIER RN 430281199508 *xkxk 83.05 84.00 83.62 =
4 FTC11 FEIER [~ 441622199811 *ksks 78.10 87.00 83.44 =
5 FTC11 TETIER Rx 452601199003 **xkx% 76.40 87.40 83.00 =
6 FTC11 TETER E+B 430426199612 **#*kx 80.35 84.40 82.78 =
7 FTCI11 TETIER B 431382199604 *xkxx 85.80 80.60 82.68 =
8 FTC11 TETIER BN 440305200101 #xkx 79.00 84.80 82.48 =
9 FTCl11 TEITEN {a]+45 441621199606 *# ik 84.80 79.80 81.80 =
10 FTC11 TETIER iR 440582200005 **## % 84.25 79.00 81.10 =
11 FTC11 TETER 1B+H 500230199604 *#xkx 79.95 81.40 80.82 =
12 FTC11 TETER 2 612731199307 *#ixkx* 76.25 82.80 80.18 =
13 FTC11 TEIER K +iE 532527199604 **k# % 81.25 79.00 79.90 5
14 FTCl11 HEITES £k 441581199805 *###kx* 83.40 75.40 78.60 =
15 FTC11 TETER Fx37 4415221991 1 () * kst 80.85 76.80 78.42 =
16 FTC11 TETIER R 430422199408 *xk % 75.05 79.00 77.42 =
17 FTC11 TETER L RiG] 441427200102 **#k* 76.95 77.60 77.34 =
18 FTCl11 HEITES X+ FR 441581200101 *#xkonsk 75.45 78.20 77.10 =
19 FTCl11 BEIEN ] 441521199010 ks 79.55 74.00 76.22 =

20 FTC11 TETER FTE 440511200008 *#k 82.20 72.20 76.20 =
21 FTC11 TEIER T8 445281200101 ks 77.10 75.20 75.96 =
22 FTCl11 HEITER PF+F0 440513200107 **##k* 80.20 71.60 75.04 =
23 FTCl11 HEITEN FF 445281200103 *###k* 79.55 70.40 74.06 =
24 FTC11 TETER 2K+ 8L 440582199809 * 3k kx 76.90 69.80 72.64 =
25 FTCl11 TETER Pt 362424200005 ok 82.95 fRE 33.18 =
26 FTCI11 TETER Fax 360828199608 *# ik 82.30 fRE 32.92 =
27 FTC11 TETER =+ 440582200003 *xk % 81.20 fRZ 32.48 =
28 FTC11 TETER F+Z 410183199709 *ssksx 80.30 fRZ 32.12 =
29 FTCl11 TETER XIJ 4 4451222001 10 *#xkx 79.50 fRE 31.80 =
30 FTC11 HEITER PN 44522119971 () * kst 78.45 fRZ 31.38 =
31 FTC11 TETER 35 441402199905 *sxksk 77.75 fRE 31.10 =
32 FTCI11 TETER X+ 411481199805 *#sks 77.65 fRE 31.06 =
33 FTCl11 TETER B+ 5113231997 | ok 77.45 fRE 30.98 =
34 FTC11 HEITEN s 44152319961 () * ks 77.25 fRZ 30.90 =
35 FTC11 TETER S 445102199001 *xsksx 76.65 fRZ 30.66 =
36 FTB56 FEHIR A 441423199704 * k5 82.35 89.20 86.46 =
37 FTB56 BN FH+ 48 43042219981 ( ik 83.40 84.40 84.00 =
38 FTB56 Sl BT 445122199903 *#ksks 86.05 fRE 34.42 =
39 FTB56 RTEHIR B e 44132319951 ] #kwsksk 81.85 fRE 32.74 =
40 FTB56 REHIR 254 441621199501 *xkik 80.75 fRE 32.30 =
41 FTB60 NBNAR Bt 441581199312 %ok 86.80 85.40 85.96 =
42 FTB60 NBENER x|« 36073119961 | ¥k 85.50 84.10 84.66 =
43 FTB60 /\P_F:%iﬂ %+ B 441625199902 *+##sksk 76.20 86.60 82.44 2
44 FTB60 NENE [+ 35 445281199703 *#xk* 85.60 79.00 81.64 =
45 FTB60 /\er“,_\ =18 440306199907 *xk % 76.95 81.10 79.44 =
46 FTB60 NBNER T+K 342625199903 ok 73.05 82.10 78.48 =
47 FTB60 NERER B x5 441481199506 %k 79.35 77.60 78.30 &
48 FTB60 NBENER %R, 45098119941 ( %k 76.85 78.00 77.54 =
49 FTB60 NERER BB 440181199803 *#sks* 72.40 80.20 77.08 &
50 FTB60 NENEX e 441481199907 ***xx* 70.75 79.00 75.70 5
51 FTB60 NENEARX PR 44050819931 () **##k* 73.35 76.40 75.18 =
52 FTB60 NBENER ES) 440982199707 *#ksks 70.90 77.00 74.56 =
53 FTB60 NBNER B 445221199504 *xsksk 77.30 fRZ 30.92 =
54 FTB60 NENER FIL * 622102200003 *# %k 76.05 fRE 30.42 =
55 FTB60 NBENER =1 440181199809 *#sks 70.90 fRE 28.36 =
56 FTB62 NBENER X1« JE 43022420001 | *xksk 82.20 83.70 83.10 =
57 FTB62 NBENER SR 445222200012 **xksk 75.05 87.00 82.22 =
58 FTB62 NEINAR X1 441323200010 ***k* 72.45 84.90 79.92 =
59 FTB62 NBENER [EEES 445221200003 ***ks* 69.20 85.60 79.04 =
60 FTB62 NBENAER REx 362229199704 ks 70.30 84.30 78.70 =
61 FTB62 NENEN £ 450481200104 *#+kx* 74.00 78.40 76.64 =
62 FTB62 NENER B 362429200008 * 63.40 84.60 76.12 =
63 FTB62 NBNER TE 440683200008 *xkx% 62.05 85.40 76.06 =
64 FTB62 NBNER Bicx 412827199409 ks 65.95 82.30 75.76 =
65 FTB62 NENEAR B 441622200002 *#*koksk 65.70 81.20 75.00 =
66 FTB62 NENER B 450981200102 *## 63.30 81.90 74.46 =
67 FTB62 NENEX E R 445321200108 *#*kkk 67.80 78.00 73.92 =
68 FTB62 NBENER TDx A 440681199908 *xksx 63.45 79.20 72.90 =
69 FTB62 NERER B 441322200002 **#xk 62.60 78.20 71.96 &
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70 FTB62 ANBNAR =T 445281200107 *##ks 71.65 69.40 70.30 =
71 FTB62 NBNER R+ 441622199711 *kxsksk 60.65 76.00 69.86 =
72 FTB62 NBNER EN 441284200005 *#k 80.60 TR 32.24 =
73 FTB62 NBENER B2 440923199903 *#sks 79.65 fRE 31.86 =
74 FTB62 NERER %+ 441622200008 ** ks 76.70 fRZ 30.68 =
75 FTB62 NBNER BE 410108199807 *xksx 75.70 fRZ 30.28 =
76 FTB62 /\Er“,_\ =+H 4290042001 1 * 5% 73.65 fRE 29.46 =
77 FTB62 NENE K+ E 445281199812 *#kkk 72.30 R 28.92 =
78 FTB62 . \er“,_\ Falx3E 44512120001 1 **#*x* 72.25 R 28.90 =
79 FTB62 NENER B 469007200103 *xksx 61.50 fRE 24.60 =
80 FTB59 AR R 440582199711 *ksks 82.80 91.40 87.96 =
81 FTB59 AR S+ 61058119941 ] *#ixks 89.45 83.60 85.94 =
82 FTB59 AR B4 445281199711 *#kxkx 80.60 84.00 82.64 =
83 FTB59 1V AR S5 Fx 440301199204 *kxkoksk 83.85 81.40 82.38 =
84 FTB59 AR X+ 37021419961 | ks 84.50 fRZ 33.80 =
85 FTB61 BEEOX = 441302199908 * ks 84.85 91.80 89.02 =
86 FTB61 EE0RN £ 440303199904 *xksx 89.60 82.20 85.16 =
87 FTB61 EE0ORN %40 441581200001 **oks 84.60 81.20 82.56 =
88 FTB61 BAEOX E 450981199412 #ixkx 83.60 80.60 81.80 =
89 FTB61 EE0N EE 445281199909 *xk % 84.80 fRZ 33.92 =
90 FTC13 BEEOX PR 440823199306 **++*+ 85.95 84.00 84.78 =
91 FTCI13 BEEAN [ 440421199512 *ksks 89.60 81.00 84.44 &=
92 FTC13 aEAN By 140221199303 *kkoksk 88.80 74.20 80.04 =
93 FTC13 EE0ON Fa«38 440882199907 * 3k *kx 85.20 75.80 79.56 =
94 FTCI13 EE0ORN EXE 440582199603 **#sks 84.05 fRE 33.62 =
95 FTD14 X RIAE 5 FB+ER 441581199706 *** 84.90 88.20 86.88 =
96 FTD14 X RIAE 5 = 430626198906 *** 85.40 86.30 85.94 =
97 FTD14 X W1 R Mrzz 440306200007 3k 85.80 85.30 85.50 =
98 FTD14 X MR Fz 44160219941 ] **kkxk 82.50 86.80 85.08 =
99 FTD14 X MR X« 441622199912 **k*xk 78.55 89.00 84.82 =
100 FTD14 X W4 R [ikgl 441423200009 *# ks 84.05 85.00 84.62 =
101 FTD14 X M1 R > 440514200009 **# % * 78.10 88.20 84.16 =
102 FTD14 X W4 R Rrg 44030619951 | ks 84.70 83.10 83.74 =
103 FTD14 X W% R KB+ 3303821993 12 #kiskick 79.15 86.60 83.62 =
104 FTD14 X MAE R Fhx 22018119921 %% 78.85 86.80 83.62 =
105 FTD14 X W R R = 431122199901 *#*kx* 82.05 84.00 83.22 =
106 FTD14 X ME R §x 3 441423199204 ¥k 82.30 83.60 83.08 =
107 FTD14 X Mg R &+ 360429199412 #ikik 83.35 82.80 83.02 =
108 FTD14 X Mg R B 445281199504 **kkx 84.80 81.80 83.00 =
109 FTD14 X MR E 410225199306 *xk % 79.75 85.00 82.90 &
110 FTD14 X MR oKx 44030519981 () *###x* 80.60 83.20 82.16 =
111 FTD14 X M1 R i 352227199509 #*#kx 79.10 83.50 81.74 =
112 FTD14 X ME R 2« 412728200104 *###xk 79.40 83.00 81.56 &
113 FTD14 X ME R [+ 440301199806 *** 80.45 82.20 81.50 =
114 FTD14 X WA & B 14270319931 **# 78.05 83.50 81.32 =
115 FTD14 X Mg R E+tE 441427199608 *xksx 80.70 81.60 81.24 =
116 FTD14 X MAE R R 340826199709 *****+* 80.30 81.60 81.08 =
117 FTD14 X ME R BB 440883199712 ¥k 81.05 81.00 81.02 =
118 FTD14 X MR T 440823199602 *xk % 80.80 81.10 80.98 &
119 FTD14 X Mg R ES 360622199408 **#k* 78.00 82.80 80.88 =
120 FTD14 X ME R B+ 44088319991 | *#xkxx* 80.15 81.00 80.66 =
121 FTD14 X MR R S 441424199805 ¥k 78.65 82.00 80.66 =
122 FTD14 HX MG R X+ 53212819991 () ks 80.40 80.80 80.64 =
123 FTD14 X ME R i 230404199203 *#xk** 77.60 82.60 80.60 =
124 FTD14 X ME R =7 511023199206 ***k 82.65 79.00 80.46 =
125 FTD14 X Mg R EN 445122199807 **kksk 81.35 79.60 80.30 =
126 FTD14 X MR E i 412826199108 **#*kx 77.70 81.80 80.16 5
127 FTD14 X ME R RN 412826199102 ki 77.85 81.60 80.10 =
128 FTD14 X MR R A 441621199906 * k5 80.55 79.20 79.74 =
129 FTD14 X Mg R E 152301199908 **#*kx 77.75 80.20 79.22 =
130 FTD14 X ME R EX*R 44058219971 () *xksx 79.00 77.40 78.04 =
131 FTD14 X ME R JB+3R 431102199205 *###kx* 88.35 fRE 35.34 =
132 FTD14 X Mg R EN 441423199301 *ksks 86.10 fRZ 34.44 =
133 FTD14 X MG R BEE 43110319981 ] #kwsksck 80.25 fRZ 32.10 =
134 FTD14 X MG R i 445281200012 %k 78.90 fRE 31.56 =
135 FTD14 X ME R B 440582199804 *xk sk 78.45 fRE 31.38 =
136 FTD14 X Mg R P 420881199507 *#xkx 78.20 fRE 31.28 =
137 FTD14 X RAE R ERR 430602199802 *sxksk 78.05 fRE 31.22 =
138 FTD14 X ME R BB 44098219941 ] *ksks 77.95 fRE 31.18 =
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139 FTD14 HX MG R 1%+3k 450321199512 #kiok 77.50 fRZ 31.00 =
140 FTD15 X W% R (a5 44148120001 | *#kskk 82.00 89.00 86.20 =
141 FTD15 X M1 R Bl 340823199507 ***#kx* 82.45 84.20 83.50 =
142 FTD15 X MA& R XI| {2 4416002001 12 %ok 79.80 85.90 83.46 =
143 FTD15 X W% R ] 341222200201 *## % 84.80 82.00 83.12 =
144 FTD15 X W% R 138 440224200010 *#+k+* 81.85 83.90 83.08 =
145 FTD15 X WA R et 411123200209 *#*ksksk 76.00 87.50 82.90 =
146 FTD15 X ME R g 440582199909 * ks 81.30 83.10 82.38 =
147 FTDI5 X WR R ES 440303200111 %ok 82.65 80.10 81.12 &
148 FTDI5 HX MR E 44028119971 **xsksx 78.25 82.90 81.04 =
149 FTDI5 X M R ER 441302200107 **##k* 78.85 80.50 79.84 =
150 FTDI5 X MR Hx 441621200107 **##k* 75.65 82.40 79.70 =
151 FTD15 X M1 R D 431102200206 * 77.65 79.80 78.94 =
152 FTD15 X ME R s 441424200107 * 5%k 76.40 80.00 78.56 5
153 FTDI5 X ME R pSiN 445222200102 ko 72.95 80.60 77.54 =
154 FTD15 X Mg R R 441624200105 *xkxx 73.30 79.70 77.14 =
155 FTDI5 X Mg R fa+$% 44088319990 3k kx 79.35 74.90 76.68 =
156 FTDI5 XM R B 441424199809 *xk % 72.35 79.50 76.64 =
157 FTD15 X ME R [~ 441481200103 *kks 72.80 77.80 75.80 =
158 FTDI5 X Mg R Rz 230202200108 *## %+ 77.05 73.90 75.16 =
159 FTD15 X Mg R Esih 441721199907 **#kx* 72.95 75.40 74.42 5
160 FTD15 X ME R R 441521199905 *xk sk 82.90 fRE 33.16 =
161 FTD15 X WA & Pk 441521200010 **#*x* 80.85 R 32.34 =
162 FTDI15 XM R TEI 441624199607 **xksx 78.50 fRZ 31.40 =
163 FTD15 X WA R S 440183200101 *##kx* 78.00 TR 31.20 =
164 FTD15 X MAE R Bk 441322199805 * sk 76.55 fRE 30.62 =
165 FTD15 X Mg R X+ FF 362421199508 *# ik 75.45 fRZ 30.18 =
166 FTDI15 X MR Eay 445221200105 *xsksk 75.20 fRZ 30.08 =
167 FTD15 X MR % 440513199909 *xk sk 73.35 TR 29.34 =
168 FTD15 X ME R TP+ 3E 44528120001 1 #xkx 73.20 fRZ 29.28 =
169 FTDI15 XM R E2N 445222200102 *xksk 72.10 fRZ 28.84 =
170 FTB57 B& R 253y 445222199208 *xkik 87.10 91.00 89.44 =
171 FTB57 B& R i 412821198712 *xskick 91.50 84.80 87.48 =
172 FTB57 B& R R 440304199909 *#*sks* 85.00 89.00 87.40 =
173 FTB57 BEHR S 445102199808 **#*k* 84.85 89.00 87.34 =
174 FTB57 B S 441625199509 *xk sk 88.35 86.20 87.06 =
175 FTB57 BEHhE Fise 211202199908 *###* 86.55 86.40 86.46 =
176 FTB57 BEEHE K 431026199501 *#ksks 87.10 85.40 86.08 =
177 FTB57 BEEmE R 445281199304 *xsksk 85.45 86.40 86.02 =
178 FTB57 BEHhE P75 44522419962 * ks 86.90 82.00 83.96 =
179 FTB57 BB = s 321281199506 %+ 91.15 77.70 83.08 =
180 FTB57 BEHR XiJ+ 1% 440582199908 **#*kx 87.70 79.80 82.96 =
181 FTB57 BB = B 441581200003 *# k5 84.40 81.60 82.72 =
182 FTB57 BEHhE K 130602199710 *#xk % 89.45 fRE 35.78 =
183 FTB57 BEHhR B 430624199104 *xkik 88.10 fRE 35.24 =
184 FTB57 BEHR Fi* 420583199010 ***k 84.25 fRZ 33.70 =
185 FTB58 BN [k 412828199406 **#kx 80.40 86.80 84.24 £
186 FTB58 BB = Z-5 36250199507 ***kx% 74.95 89.20 83.50 =
187 FTB58 BB = X+ E5 429004199802 *###* 78.35 82.00 80.54 =
188 FTB58 BEEmE Sl 44522119921 ( %5k 78.30 78.60 78.48 =
189 FTB58 B R Py 440923199404 *xkik 76.65 RE 30.66 =
190 FTC12 ZE5ER IS 445102199705 *k*ksksk 87.90 85.00 86.16 =
191 FTC12 ZEVER s 440306199707 **xksk 86.30 84.80 85.40 =
192 FTCI12 ZEVER J7 0 44522419987 **kxksk 85.90 83.20 84.28 =
193 FTC12 ZEIVER B8 445224199812 ¥kt 83.25 84.00 83.70 =
194 FTCI12 ZE5WVER Bx 43052519951 ] *#k#ks* 83.30 83.90 83.66 =
195 FTCI12 ZE5VEN ande] 441322200006 ***# 5% 87.00 79.90 82.74 =
196 FTC12 ZEIVER = 440902199906 *****x* 82.95 81.50 82.08 =
197 FTC12 ZE5lVE A 360103199708 *## 84.15 79.60 81.42 &
198 FTC12 ZEIVER ERN 440506199705 *#+kskk 85.85 75.80 79.82 5
199 FTC12 ZE5VER = 445281198808 *xksk 88.85 fRE 35.54 =
200 FTCI12 ZE5VER e 445281199704 *xkik 87.45 fRE 34.98 =
201 FTCI12 ZE5WER [« 211322198802 *kksksk 85.30 fRZ 34.12 =
202 FTC12 ZE5 5 = 36072219941 koxsks 84.70 fRZ 33.88 =
203 FTCI12 ZE5VER A+F 430922199601 *xkik 84.50 fRE 33.80 =
204 FTCI12 ZEVER B FK 42068219991 ( ** sk 83.10 fRE 33.24 =
205 FTC16 ZEER FRxAL 441621199812 ks 89.35 88.40 88.78 =
206 FTC16 ZEIER =+ 440303200101 **#%k* 82.10 89.80 86.72 =
207 FTC16 ZE5VER T 440111200010 %% 79.05 86.80 83.70 =




TR DX GEAETEE 2023457 H 2R HHLOGC SV AR BN BURIRLIX LI LIRS
ISY &S YNGR

Fs RIS L EFR e SMES TIRRR SR | BE | RS EEENER
208 FTC16 ZE5lVE E+% 53012219991 ] ### 79.45 84.40 82.42 &
209 FTC16 ZE5VER [~ BiE 440513200009 *k5x 80.60 81.80 81.32 =
210 FTC16 ZEIVER Eed 440582200003 *#*kksk 82.80 79.00 80.52 =
211 FTC16 ZE5VES [+ 440881199705 *###kx* 78.90 81.40 80.40 =
212 FTC16 ZEIVER K30 440802200107 *## % 82.15 78.00 79.66 =
213 FTC16 ZE5VER i 440583200001 *xksx 79.15 80.00 79.66 &
214 FTC16 ZEIVER R+R 440902200009 **##* 79.90 71.20 74.68 =




